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1. FRAESE T I E BB A5 FER y = 5.018x - 0.0462; x NARAEMIKE (mg/mL), y AHGHE.
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CL 3% 71(ug /min/mL)= [1000 X (AA+0.0462) +5.018xV [ ]+V FE+T =39.8x(AA+0.0462)

3. 4. dHEEAIA L CL RS
(D B E R
PRI E e B mg L1V FV R B AL AR Tng FETHE T SO — NS ) B
CL ¥ 71(ug /min/mg prot)=[1000 X (AA+0.0462) +5.018xV & ]+(V FExCpr) =T
=39.8x(AA+0.0462) +Cpr
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CL % J1(pg /min /g BEE)=[1000 X (AA+0.0462) +5.018xV (W= V FE=V BEE) =T
=39.8%(AA+0.0462) +W
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CL % J1(pg /min /10* cell)=[1000 X (AA+0.0462) +5.018xV [ ]+(500xV #E+V #E i) =T
=0.0796x(AA+0.0462)

1000: Img/mL=1000ug/mL; V A& : RMNAERSE, 1.2mL;  VEE: IIAFEARAER, 0.1mL; V.
IOIREUB AR, 1 mL; T: RMSEFE, 60min; Cpr: PEAEERKEE, mg/mL; W: BEAFRE, g 500:
YU B2, 500 5.
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